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32- 1 [01] {001}  oigu d; 0 8,00 8,00
32- 2 [01] {oo1} Ipuk ik]kfxd 10,00 0 10,00

rT (SRET 3Y) - 2220 10,00 8,00 18,00
I ( HEE ) - 32 10,00 8,00 18,00
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2005 srafe W, Srfe ST it
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SMASTAR
33- 1 [02] {oo1} olgu d; 0 4,50 4,50
I (W IY) - 2225 0 4,50 4,50

JrT ( AN EE ) - 33 0 4,50 4,50
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Hah 9y
AT 9& -34  |HIS SHednot
2235  WmIReh HET X swearur
ST
34- 1 [02] {101} jiT; Jkr din dh LR uk 3,53 0 3,53
AN
34- 2 [02] {101} fub*kDreu jkT; urfr dk fd;ko;u 5,00 0 5,00
34- 3 [02] {101} del;Vjhdr cy en.k bdk gr 0 10,00 10,00
34- 4 [02] {101} nfV ,0 cfirf folky; txnyij dk mlusu 17,09 1,75 18,84
ST
3- 5 [02] {106} fd*ij dY;kk fuf/k dk xBu 10,00 0 10,00
AN
34- 6 [02] {106} IEi'k.k xgk gr vfrfjDr ink db Lohdfr 9,30 0 9,30
I (@ IY) - 2235 44,92 11,75 56,67
I ( HIMEE ) - 34 44,92 11,75 56,67
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RIS RGEY
36- 1 [XX] {101} 10 ux oigu dk d; 0 40,00 40,00

I (ST IY) - 2041 0 40,00 40,00
I ( M EE ) - 36 0 40,00 40,00
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7T G&1 -38  SNEd fa SManT sht SIrEr w ure
B ST HETHAT TS
2055  qfe™
ST
38 1 [XX] {003} fodkl dk;k gr wvunku 0 5,00,00 5,00,00
I (@ IY) - 2055 0 5,00,00 5,00,00
2059 ek fAmior
JMASTAR
38 2 [01] {053}  diky;hu Hou ejeer 0 22,89,00 22,89,00
I (W IY) - 2059 0 22,89,00 22,89,00
2205 eIl 3R WERTd
ST
38- 3 [XX] {103} ijirio ,0 NlLdfrd fojkdr Bj{k.k 0 2,50,00 2,50,00
I (@ IY) - 2205 0 2,50,00 2,50,00
2216 AT
JMASTAR
38- 4 [01] {106} hdh; viokl Houk di ejeer 0 22,89,00 22,89,00
I (@ IY) - 2216 0 22,89,00 22,89,00
3054 g SR UA
ISR
3- 5 [04 {337} Ivd vij iy 0 65,60,00 65,60,00
N7 (ST 9Y) - 3054 0 65,60,00 65,60,00
4059 T SRt ARG
ST
38- 6 [01] {051} Hkou fuek.k 0 20,00,00 20,00,00
N7 (W1 IY) - 4059 0 20,00,00 20,00,00
4217  wiEh faewmm W Ust uftemm
ST
38- 7 [01] {051}  uolu jktAkun v/kIjpuk 0 50,00,00 50,00,00
a7 (A IY) - 4217 0 50,00,00 50,00,00
IAT ( AN EE ) - 38 0 1,88,88,00 1,88,88,00
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GO faumT | Geifea =
2408  W@TE, WSNUT 3T WigHmRuT

TSR
39- 1 [01] {001}  oru 7,56 0 7,56
39- 2 [01] {001} egxib HArk 13,44 0 13,44
39- 3 [01] {001} Quipj ,0 dk;ky; midj.k 0 2,00 2,00
39- 4 [01] {001} gvdk ofgu 0 10,00 10,00
39- 5 [01] {001} vi; wvidfled 0;; 0 24,00 24,00
39- 6 [01] {001} gvdk oigu d; 0 24,00 24,00

I (T ) - 2408 21,00 60,00 81,00

I ( AN EEA ) - 39 21,00 60,00 81,00

33




o as00r 35 ot el =7 A S

(3ffehe TR Tl H)

AT S 3T gEA oy wi ferercor et CEICKil RN
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O W@ -41  Ifeerdt g SuErerr
2202  wmwrA e
SIS
41- 1 [01] {101} vifnoklh viJe [kyu gr 3,50 67 4,17
41- 2 [01] {101} Ik e of) gr 11,08 3,06 14,14
41- 3 [01] {101}  WiJe ‘lyk [Hyu gr 4,76,17 79,12 5,55,29
41- 4 [02] {109} ikv efvd wkfoklh dU;k Nk=kokl dh 2,40 67 3,07
LFiki uk
41- 5 [02] {109} gibLdy e mlusu 21,58 2,05 23,63
41- 6 [02] {109} 50 MVj Nistokl [Wkyu cicr 6,14 1,34 7,48
41- 7 [02] {109} Ni=lokl e 1V of) 39,85 11,36 51,21
41- 8 [02] {109} Nk=tokl  [kkyu gr 3,93,19 79,06 4,72,25
41- 9 [02] {109} del; vy ifkkk 3,60,00 0 3,60,00
41- 10 [02] {109} 81 gibldyk dk gi;jid.Mjh Ldy e mlu;u 7,32,61 75,40 8,08,01
41- 11 [02] {109} 128 io el/;fed “lykvk dk gibldy e 7,49,31 81,20 8,30,51
miu;u
41- 12 [02] {109} 03 gk;j Bd.Mjh Ldy e uotu Idk; 5,15 4,00 9,15
41- 13 [03] {102} LRikiuk vunku 1,00,00 0 1,00,00
41- 14 [03] {102} LFkkiuk wunku 1,00,00 0 1,00,00
41- 15 [03] {103} Ni=k d v/;;u Hek gr 0 2,70 2,70
41- 16 [03] {103} oru Her ,o dkky; midj.k 6,50 0 6,50
41- 17 [03] {103} oru Her ,o midj.k 2,06,50 0 2,06,50
41- 18 [80] {800} iLrd] Quipj ,0 VU; widfled 0;; 0 9,15,05 9,15,05
I (@I EY) - 2202 32,13,98 12,55,68 44,69,66
2210 Tafewdr ik dre @rea
ST
41- 19 [01] {110y  fpfdilk egifolky; txnyij I lIc) 2,20,00 30,00 2,50,00
fpfdRlky;
41- 20 [03] {103} 23 wvifnoklh {k=k e ikrfed LokLF; dUnk 2,49,55 57,50 3,07,05
dh LFikiuk
41- 21 [04] {101} uohu Vk'k/ky; i LRkiuk 3,00 50 3,50
41- 22 [05] {105}  ‘txnyij e fpfdRlk egifolky; dh LFkiuk 2,42,00 1,58,00 4,00,00
41- 23 [80] {800} ;jdizu dei'tu jiT; lenkjh di;de d 3,06,00 60,00 3,66,00
vrxr LokF; lokvk dk folrkj ,o
In<hdj.k
I (R Id) - 2210 10,20,55 3,06,00 13,26,55
2215 et Ui ofT wer
ST
41- 24 [01] {191} iffyxio ty ink; ktuk 27,00 27,00
41- 25 [01] {191} tayij ty ink; ke 50,00 50,00
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I (T ) - 2215 0 77,00 77,00
2230 &M I ASR
ST
41- 26 [03] {101} oru Hir wvifn 13,00 0 13,00
41- 27 [03] {101} Quipj dk;ky; midj.k 0 2,00 2,00
41- 28 [03] {101} Quipj dk;ky; midj.k 0 83 83
41- 29 [03] {101} del;vj d; gr 0 4,25 4,25
41- 30 [03] {101}  oru HEr ,0 wi; 0;; 1,22,00 0 1,22,00
I (SR IY) - 2230 1,35,00 7,08 1,42,08
2401  FUwE
ST
41- 31 [XX] {103}  cit vunk 38,00 0 38,00
I (SR IY) - 2401 38,00 0 38,00
2406 SRt 3R I Sia
ST
41- 32 [01] {101} I;Dr ou ic/hu dk In<hdj.k ,o0 fodkl 25,00 0 25,00
41- 33 [01] {102} ckl ouk dk iuji)kj 4,00,00 0 4,00,00
I (oRan IY) - 2406 4,25,00 0 4,25,00
2505  UTHtOT s
STSTHT
41- 34 [60] {101} cjkexkjh Herk fuf/k 30,00 0 30,00
I (R IY) - 2505 30,00 0 30,00
4202  Totem, @, e X HEhia WX USH
uRe=
ST
41- 35 [01] {202} 13 Ni=fokl Heou fuek.k 0 3,66,49 3,66,49
41- 36 [01] {202} uohu Hkou fuek.k 0 7,00,00 7,00,00
41- 37 [03] {101} e’liu midj.k 0 2,60,00 2,60,00
AT (T EY) - 4202 0 13,26,49 13,26,49
4210  Tafemr iR vl Tameea W yst ufitea
ST
41- 38 [02] {103} ;jfizu dei'tu jiT; lenkjh di;de d 0 5,32,00 5,32,00
vrxr Hou fuek.k
I (T EY) - 4210 0 5,32,00 5,32,00
4215 < Ufd 3T "t fremrt W gt ufiema
ST
41- 39 [01] {102} gloMQDpfjx e’liu ,0 fMfyx fjixI d; gr 0 3,50,00 3,50,00
41- 40 [01] {102} 08 xkeh.k ty ink; ;ktuk 0 1,60,00 1,60,00
I (R ) - 4215 0 5,10,00 5,10,00
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4235  wrHIfSTeR GIET 3T SHeArr u¥ YSiTd
uieE
ST
41- 41 [02] {102} 700 wvkxuckMh Hkou fuek.k 0 12,25,00 12,25,00
T (@) - 4235 0 12,25,00 12,25,00
4701  weEw fEeg wWUSTE uiems
AT
41- 42 [41] {800} dklilkr €yk’k; dk fuek.k 0 1,00,00 1,00,00
41- 43 [42] {800} [kikyh tyk*k; dk fuek.k 0 1,00,00 1,00,00
41- 44 [43] {800} ikiky ifj;keuk di fuek.k 0 1,00,00 1,00,00
41- 45 [44] {800} Hihe lu 24V 0 1,00,00 1,00,00
41- 46 [45] {800} bc O;iru dk fuek.k 0 1,00,00 1,00,00
IrT (SRaT ) - 4701 0 5,00,00 5,00,00
4702 g fHag o Ush uierw
TS
41- 47 [XX] {101} 40 y?% flplkb ;ktukvk dk fuek.k YukckMi 14,50,00 14,50,00
41- 48 [XX] {101} 36 ,undVeLVkiMe dk fuek.k 10,00,00 10,00,00
41- 49 [XX] {101} 31 y% flpib ;keukvk di fuek.k 12,00,00 12,00,00
T (@ IY) - 4702 0 36,50,00 36,50,00
5054 ~ WSl 3R Yall WX USHTa UReTd
ST
41- 50 [04] {337} i/ue=h xke IMd ;ktuk vrxr dkdiv 0 31,25,00 31,25,00
IMd fuek.k
N7 (SRET 3Y) - 5054 0 31,25,00 31,25,00
I (I EE ) - 41 48,62,53 1,25,14,25 1,73,76,78
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STTESTAT

42- 1 [03] {101} 141 iyk dk fuek.k 38,20,00 38,20,00
42- 2 [03] {101} dkjiMkj ekxk e 06 ef;e iyk dk fuek.k 4,80,00 4,80,00
42- 3 [04] {800} 185 xkeh.k IMdk dk fuek.k 75,00,00 75,00,00
T (@ o) - 5054 0 1,18,00,00 1,18,00,00
T ( AT EE ) - 42 0 1,18,00,00 1,18,00,00
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ST
43- 1 [XX] {800} Lo- egkjktk iohjpn Hktno rhjnkth ijLdkj 2,00 0 2,00

M (T ) - 2204 2,00 0 2,00
I ( I EE ) - 43 2,00 0 2,00
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i e -44 = foran
2202  wmur= fyrem

SIS
44- 1 [03] {001} Quipj ,0 dk;ky; midj.k 0 2,00 2,00
44- 2 [03] {102} Igk;d vunk 1,00,00 0 1,00,00
44- 3 [03] {102} LRikiuk vunku 1,00,00 0 1,00,00
44- 4 [03] {102} VU5 wvunku 0 2,00,00 2,00,00
44- 5 [03] {102y  VU; wvun 0 5,00,00 5,00,00
44- 6 [03] {103} ILdr HK'% d uke 1j ijLdkj 0 2,00 2,00
44- 7  [03] {103} Ni=k d v/;5u He.k gr 0 2,70 2,70
44- 8 [03] {103} LFkiuk vunku 1,00,00 0 1,00,00
44- 9 [03] {103} etnjh ,0 lext ifr 0 25,00 25,00
44- 10 [03] {103} oru Her ,o dkky; midj.k 22,50 0 22,50
44- 11 [03] {103} oru Har ,o dkky; midj.k 20,00 18,00 38,00
44- 12 [03] {103} iLrd ,0 midj.k 0 70,00 70,00
44- 13 [03] {103} oru Her ,o dkky; midj.k 8,50 0 8,50
44- 14 [03] {103} e"lu midj.k 50,00 0 50,00
44- 15 [03] {103} oru Her ,o midj.k 24,00 5,50 29,50
44- 16 [03] {103}  oru HAr wvifn 9,41 0 9,41
44- 17 [03] {104} LRikiuk wunku 0 15,00 15,00

I (SR ) - 2202 4,34,41 8,40,20 12,74,61

I ( I EE ) - 44 4,34,41 8,40,20 12,74,61
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45- 1 [01] {101} Hkjh - okgu 0 24,00 24,00
N7 (SR 9e) - 2702 0 24,00 24,00
4702 g g o ush ufema
ST
45- 2 [XX] {101} 53 ,udVgLviiMe di fuekk 0 25,00,00 25,00,00
45- 3 [XX] {101} 32 y% flpk ;ktukvk dk fuek.k 0 18,00,00 18,00,00
45- 4 [XX] {102} 1000 uydik dk [kuu 0 8,00,00 8,00,00
IJrT (SRAT9N) - 4702 0 51,00,00 51,00,00
I ( AN EERA ) - 45 0 51,24,00 51,24,00
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3425 39 SFIeR SATHA

ST
46- 1 [60] {200}  dnb; EskxTkkyk di LFkkiuk 25,00 4,75,00 5,00,00
46- 2 [60] {200} Igk;d vunk 0 30,00 30,00
46- 3 [60] {200} Igi;d vunk 0 50,00 50,00

I (T ) - 3425 25,00 5,55,00 5,80,00

T ( A ERAT ) - 46 25,00 5,55,00 5,80,00

41




T 2006-2007

% T3 el = st ST

(3ffehe TR Tl H)
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%A% 90y
i G -47 et fore 31K < vt friem
faymr
2203  dehetent forem
SRS
47- 1 [XX] {001}  oigu d; 0 4,00 4,00
SRS
47- 2 [XX] {105} Hfe viixg.k gr 0 25,50 25,50
47- 3 [XX] {105} oru Her 36,00 0 36,00
47- 4 [XX] {112} oru Har] diky; midj.k ,0 dEl;Vj 2,50,00 0 2,50,00
47- 5  [XX] {112} Quipj ,0 Nexi ifr 0 20,00 20,00
47- 6 [XX] {112 e"lu midj.k 0 80,00 80,00
I (R IY) - 2203 2,86,00 1,29,50 4,15,50
2230 oW 3R IR
SIS
47- 7 [02] {101} dtl;vj d; 0 28,00 28,00
47- [03] {003} Quipj ,0 midj.k gr 0 10,00 10,00
47- [03] {003} oru HRr ,o dksky; 055 gr 0 20,00 20,00
47- 10 [03] {003} feut Vy ze dh LFkiuk 15,00 15,00 30,00
SlRIERL
47- 11 [03] {003} olgu d; 4,00 0 4,00
SIEISEL
47- 12 [03] {101} Quipj dk;ky; midj.k 0 2,07 2,07
47- 13 [03] {101} dtli;vj d; gr 0 10,60 10,60
47- 14 [03] {101} Quipj dk;ky; midj.k 0 2,90 2,90
47- 15 [03] {101} dili;vj d; gr 0 14,85 14,85
47- 16 [03] {101}  oru H&r 0 wi; 0;; 1,44,00 32,00 1,76,00
I (T ™) - 2230 1,63,00 1,35,42 2,08,42
4202  Torem, @@, st 3T Wi W USH
R
SRS
47- 17 [02] {103} e’lu midj.k gr 0 2,50,00 2,50,00
47- 18 [02] {103} e’lu midj.k gr 0 1,50,00 1,50,00
47- 19 [02] {103} e'lu midj.k gr 0 53,00 53,00
47- 20 [02] {103} e"lu midj.k 0 1,70,00 1,70,00
47- 21 [02] {103}  e"u midj.k ,0 Hou 0 4,64,00 4,64,00
47- 22 [02] {104} e’lu midj.k 0 50,00 50,00
47- 23 [02] {105} e'lu midj.k d; gr 0 80,00 80,00
47- 24 [02] {105} e"lu midj.k 0 1,50,00 1,50,00
I (S IY) - 4202 0 13,67,00 13,67,00
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ST
47- 25 [02] {800} Gkt jigr _.k 0 50,00 50,00

I (A IY) - 6202 0 50,00 50,00
a7 (I EEA ) - 47 4,49,00 16,81,92 21,30,92
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RIS RGEY
51- 1 [XX] {800} "hdh; efnjk ,0 /ke'lkykvk d fodkl ,o0 0 50,00 50,00

.1k

JrT (SR 9Y) - 2250 0 50,00 50,00
I ( I EEn ) - 51 0 50,00 50,00
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2235  WmIReh HET X swearur
SIS
55- 1 [02] {102}  Quipj ,0 dksky; midj.k 10,00 10,00
55- 2 [02] {103} olgu d; ,0 Quipj ,0 disky; midj.k gr 23,00 23,00
55- 3 [02] {107} ek nriojh Lo Igk;rk leg ftyk clrj dh 11,00 11,00
efgykvk dk if*k{k.k
I (T ") - 2235 0 44,00 44,00
4235  wrHIfSTeR HIET 3T SHeArr U YSiTd
e
ST
55- 4 [02] {102} feyk if'k{k.k 1g 11k din gr Hkou 0 75,00 75,00
fuek.k
55- 5 [02] {102} fodkI[k.M Lrj ij Hou fuek.k 0 75,00 75,00
I (oRan IY) - 4235 0 1,50,00 1,50,00
IrT ( HEET ) - 55 0 1,94,00 1,94,00
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2851 TR 3T o1 IR
SIS
56- 1  [XX] {104} ckl f'kvi dk xgu fodkl 93,68 63,00 1,56,68
56- 2 [XX] {104} di.Mixko e If-,Q-Ih- dh LFkiuk 40,00 0 40,00
56- 3 [XX] {105} [Knh mRiknu dUnk dk wunku 37,50 0 37,50
56- 4 [XX] {110} NRrhdx< JkT; oFkdj?% ,o0 foi.ku Bgdijh 42,00 0 42,00
1% dk wvunku
IrT (SR 9iY) - 2851 2,13,18 63,00 276,18
I ( AN EET ) - 56 2,13,18 63,00 2,76,18
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AT S 3T gEA oy wi ferercor et CEICKil RN
®HIk 30N
AT A -64  rgie st < fe favr v
RIS
2202  wmwrH foran
SRS
64- 1 [01] {101} Ik e of) gr 5,33 1,41 6,74
64- 2 [01] {101} ilfifed vide Wyt [lyu gr 36,60 6,03 42,63
64- 3 [01] {101} uotu dusk wvkde “lkyk [kyu gr 3,50 67 4,17
64- 4 [02] {109} if-e- vu-tkfr du;k Nk=kokl dh LFikiuk 3,74 67 4.41
64- 5 [02] {109} vu-thfr ih-e- ckyd Niskokl t'kij e 30 56 54 1,10
1vj dh of)
64- 6 [02] {109} Ni=kokl e 11V of) 24,84 7,76 32,60
64- [02] {109} Ni=kokl [Hkyu gr 64,19 13,40 77,59
64- 8 [80] {800} iLrd] Quipj ,0 vU; widfled 0;; 0 2,88,95 2,88,95
I (SR ) - 2202 1,38,76 3,19,43 4,58,19
2210 Tafewdr it dre w@re
SIS
64- 9 [03] {103} 32 wvulfpr tifr cgy {=k e iififed 3,47,20 80,00 4,27,20
LokLF; dunk dh LFkkiuk
64- 10 [80] {800} ;isu deflu jiT; Tenkjh dicde d 1,06,00 10,00 1,16,00
vrxr LoklF; lokvk dk folrkj ,o
In<hdj.k
I (@ Ey) - 2210 4,53,20 90,00 5,43,20
2225  Idfed S, rgfed sl 31K 31
fuse ot &1 shearor
ST
64- 11 [01] {800} iLrd ,0 gYdk oigu 1,00 4,00 5,00
I (R ) - 2225 1,00 4,00 5,00
2401  FOwE
SRS
64- 12 [XX] {103} cit vunku 12,00 0 12,00
I (@) - 2401 12,00 0 12,00
2406  ofeRt 3 o= Sitam
SIEISEL
64- 13 [01] {101} I;Dr ou ic/fu dk In<hidj.k ,o0 fodkl 15,00 0 15,00
I (@ IY) - 2406 15,00 0 15,00
2505  WTHIOT ASEIR
ST
64- 14 [60] {101} cjrexijh Hark fuf/k 20,00 0 20,00
I (e IY) - 2505 20,00 0 20,00
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o aos2007 3 v Tl = = S

(3AHS TR TG )

A & 39 ged oy Wi foreror Tt ST B
e CO 1
4202  Toem, @, e SN WEhfa WX USH
uieE
ST
64- 15 [01] {202}  Viokl fuek.k 0 1,03,00 1,03,00
A (@) - 4202 0 1,03,00 1,03,00
4210  Tafemr iR vl Tameed W Ust ufiera
AT
64- 16 [02] {103}  Hou fuek.k 60,00 60,00
64- 17 [02] {103} ;jfisu der'lu jiT; enih di;de d 0 1,68,00 1,68,00
vrxr Hou fuek.k
I (T ) - 4210 0 2,28,00 2,28,00
4225  IFgrad S, g rad w9 Sitaa, 3T
37 fusg amit o Heanur W s
uea
AT
64- 18 [01] {102} exy Hou fuek.k 0 11,02,50 11,02,50
64- 19 [01] {800} fxjknijh dh Hikfr xke H.Mkjijh dk fodkl 0 3,00,00 3,00,00
IrT (SRaT 3Y) - 4225 0 14,02,50 14,02,50
5054 ~ WSl 3R Yl WX USHTa UieTa
AT
64- 20 [04] {800} 60 xkef.k IMdk dk fuek.k 0 18,00,00 18,00,00
64- 21 [04] {800} 15 iyk dk fuek.k 0 7,00,00 7,00,00
T (@ o) - 5054 0 25,00,00 25,00,00
I ( HEE ) - 64 6,39,96 46,46,93 52,86,89
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o as00r 35 ot el =7 A S

(3ffehe TR Tl H)

AT S 3T gEA oy wi ferercor et CEICKil RN
®HIk 30N
T G -66 fuset @ et
2225  ITgfed Siid, THred SHeid i 3=
fusg @t st swearor
ST
66- 1 [03] {277} JKT; fiNMK ox vkskx dk xBu 22,00 3,00 25,00
66- 2 [03] {277} 50 MVj it-efvd fiNMk ox Nk=kokl [kyu 3,69 67 4,36
gr

66- 3 [03] {800} lofk.k vik;Dr dik;ky; dh LFikiuk 8,41 0 8,41
66- [03] {800} nkek[kMk dk leflor fodkl 0 50,00 50,00
66- [03] {800} ukb Vi ke 0 50,00 50,00
I (e Iie) - 2225 34,10 1,03,67 1,37,77
I ( AN ERAT ) - 66 34,10 1,03,67 1,37,77
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o as00r 35 ot el =7 A S

(3MTHhS TR T H)

| EEA 39U g @Y [EER ST ST EIN
EZICO L

T G -67 ek fAioT @R - wee
4059 TN Rt ZHRA

SIS
67- 1 [01] {051} tyk dk musu o0 fuek.k 0 1,00,00 1,00,00
67- 2 [01] {051} ftyk didj d di'y; Hou dk fuek.k 0 25,00 25,00
67- 3 [01] {051}  ithu diky; Houk di fuekk 0 67,64 67,64
67- 4 [01] {051} uxj Mudk d fy; cjd fuek.k 0 50,00 50,00
67- 5 [01] {051} JiT; fof/kd lok ikfAdj.k di;ky; e yibfix 0 8,96 8,96
0;0LFk gr
67- 6 [01] {051} i"klu vdineh d fy, dk;ky; Hou fuek.k 0 50,00 50,00
67- 7 [01] {051} JKT; wkkx Rk feyk Qkje Hkouk dk fuek.k 0 1,00,00 1,00,00
67- 8 [01] {051}  jkij ,o feyklij ty e fdpu IM fuekk 0 30,00 30,00
67- 9 [01] {051} uDly iHkfor {i=k e okp Vkoj dk fuek.k 0 2,00,00 2,00,00
67- 10 [01] {051}  txnyij ty e cim.Moky fuek.k gr 0 2,00,00 2,00,00
67- 11 [01] {051}  didj ty e cjd fuekk 0 15,00 15,00
67- 12 [01] {051}  ftyk ty nx dk din; ty e ifjoru 0 4,00,00 4,00,00
67- 13 [01] {051}  follu NHK ifjlj e IWy gty .o 0 20,00 20,00
vifMifj;e e virfjDr fuek.k dk;
TSR
67- 14 [01] {051}  jk;ij e ifyl depifj;k gr VeV gilvy] 0 2,14,57 2,14,57
i"lklfud Hou ,o0 10 ifyl Fduk Hou dk
fuek.k
I (rEn IY) - 4059 0 14,81,17 14,81,17
4202  forem, e, e iR Hept o g
U=
SIEISEL
67- 15 [01] {202} 35 glbLdy rfik 15 m-ek- “lyk gr uohu 0 13,75,00 13,75,00
Hkou
67- 16 [01] {203} Hou fogiu 14 egifo]ky;k d Hou dk 0 1,95,00 1,95,00
fuek.k
67- 17 [01] {203} tiextj e dUsk egifolky; 0 15,00 15,00
67- 18 [01] {203} 24 "k1- egifolky;k dk In<idj.k 0 2,00,00 2,00,00
67- 19 [02] {105} “bth- egifolky; feyklij ,o txnyij e 0 79,70 79,70
dU;k Nistokll fuek.k
67- 20 [02] {105}  jkij e u; bti- dkyt Hou fuek.k 0 2,00,00 2,00,00
67- 21 [03] {800} JU-I0-Ih- dk;ky; Hiou dkdj dk fuek.k 0 30,00 30,00
I (S IY) - 4202 0 20,94,70 20,94,70
4210  Taferdr iR v e W yst uiemd
SRS
67- 22 [01] {110} feyklij e eWy gifLiVy Hou fuek.k 0 1,00,00 1,00,00
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% T3 el = st ST

(3ffehe TR Tl H)

A & 39 ged oy Wi foreror Tt ST B
i
67- 23 [02] {103} 11 ilFfed LolLF; din Hou dk fuek.k 1,10,00 1,10,00
67- 24 [02] {104} 04 Nkenkf;d LokLF; dUn Hkouk dk fuek.k 77,40 77,40
67- 25 [03] {101} vi;on Vi'kMky; Hou dk fuek.k 6,40 6,40
I (e Iie) - 4210 0 2,93,80 2,93,80
4216  3EE W YSt afied
ST
67- 26 [01] {106} ifyl depiji viokl 0 5,00,00 5,00,00
I (e §) - 4216 0 5,00,00 5,00,00
4250 3T WrHThaeR Wl W Ush uierd
ST
67- 27 [XX] {203} nx Vvib-Vi-vib- e feuh Vy e dk fuek.k 0 1,00,00 1,00,00
67- 28 [XX] {203} 09 wvk]kfxd 1fi{k.k ILFku dk;ky; ,0 03 0 4,00,00 4,00,00
efgyk Ni=kokl dk fuek.k
I (S Ie) - 4250 0 5,00,00 5,00,00
I ( A ES ) - 67 0 48,69,67 48,69,67

51




o ae o % ferd Tl =T A o

(3ffehe TR Tl H)

AT S 3T gEA oy wi ferercor et CEICKil RN
®HIk 30N
T G -68  SNiardt & SuSHSHT | Heiferd weh
ftor @ - e
4202  Torem, B, e ST weepa U
e
SRS
68- 1 [0l {203} 07 “Wldh; egifolky;k d Hiou fuekk 0 1,05,00 1,05,00
I (@ EY) - 4202 0 1,05,00 1,05,00
4210  Tafermr i wrer w@meen w g ufiea
ST
68- 2 [02] {101} 10 lkenkf;d LokLF; dUn Hkouk dk fuek.k 0 2,00,00 2,00,00
68- 3 [02] {103} 28 ilFfed LoklF; dUn Hou dk fuek.k 0 2,80,00 2,80,00
68- 4 [03] {105} txnyij e fpfdilk egdolky; dh LRkiuk 0 10,00,00 10,00,00
I (SR IY) - 4210 0 14,80,00 14,80,00

I0T ( A EE ) - 68 0 15,85,00 15,85,00
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o ae o % ferd Tl =T A o

(3ffehe TR Tl H)

HI HEA Y H@ o W fererzor afrerdt TR mm
Ui iy

TG -75 S ware fawrn @ gefua e 9
HETEAT UTH GRS
4700  Tcy wE wemEs

CIRISEL
75 1 [05] {800} 02 ugjk dh yibfux Yrinyk Ifj;ktuk 0 3,30,00 3,30,00
I (e E) - 4700 0 3,30,00 3,30,00
4702 g feeng WSt uiea
SRSk
75- 2 [XX] {101} 15 y% flpkb ;keukvk dk fuek.k 0 5,00,00 5,00,00

N7 (AT 3Y) - 4702 0 5,00,00 5,00,00
I (JmEEn ) - 75 0 8,30,00 8,30,00
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o ae o % ferd Tl =T A o

(3ffehe TR Tl H)

HI HEA Y H@ o W fererzor afrerdt TR mm
Ui iy

O G 78 I farwm @ weifua fadsft weterar
YTH URESH
2851  TTHIE 3R oY 3TN
ST
78- 1 [XX] {107}  Vi; 0;; 20,00 0 20,00

InT (S 3Y) - 2851 20,00 0 20,00
InT ( g EE ) - 78 20,00 0 20,00
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% T3 el = st ST

(3ffehe TR Tl H)

AT S 3T gEA oy wi ferercor et CEICKil RN
®HIk 30N
g ae -79 et e favr @ weifta ==
2210 Tafewdr ik e w@rea
SIS
79- 1 [02] {101} Ipkyuky;] Hjrh; fpfdRlk i)fr o 0 3,96 3,96
OWE;kiFkh gr okgu dk d;
TSR
79- 2 [02] {101} 2 vison fpfdRlkysk ,0 5 wiWkysk gr 0 7,30 7,30
Quipj ,0 e"lu midj.k
79- [02] {102} 07 Vi'Wky;k gr Quipj ,o0 elu midj.k 2,38 2,38
79- [02] {103} ;ukih vK'KKy; gr Quipj ,0 e®lu midj.k 34 34
79- [04] {101} 205 vk;on WKWy gr Quipj ,0 e’lu 69,70 69,70
midj.k
79- 6 [04 {102} 10 giE;kiF Wi'kKy; gr Quipj ,0 e'lu 0 3,40 3,40
midj.k
79- 7 [04] {103} ;ukih vK'Kdy; gr Quipj ,o0 e®lu midj.k 0 34 34
SRS
79- 8 [05] {105}  fldy ly din dh LFkiuk 16,62 13,50 30,12
79- 9 [06] {101}  ddM;kykth ;fuv dh LRkiuk 1,00,00 0 1,00,00
I (SRar ) - 2210 1,16,62 1,00,92 2,17,54
4210  Tafemr iR ol Tameea W Ust ufiera
SRS
79- 10 [01] {110}  {w=h; dlj IlRku e yifu;j ,DIyVj el 0 5,00,00 5,00,00
d; gr
79- 11 [03] {105}  fpfdRlk egdolky; jk;ij d fy; midj.k 9,57,50 9,57,50
79- 12 [03] {105} nir fpfdrlk egifolky; d fy; midj.k 2,76,00 2,76,00
79- 13 [05] {105} nr egfolky; dk Hiou fuek.k 12,00,00 12,00,00
I (@) - 4210 0 29,33,50 29,33,50
I ( AN ERAT ) - 79 1,16,62 30,34,42 31,51,04
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T 2006-2007

% T3 el = st ST

(3AHS TR TG )

A HEN 3Y g o 9 feramom Tt ST RIb
®HIk 30N
i Een -80 Pl demadt et wened sy fawiy
HEEAT
2202 @t fyrem
SRS
80- 1 [02] {191}  f'idfesk dk elun; 25,73 25,73
80- 2 [02] {191}y  f'i dfesk d efun; 5,80,00 5,80,00
I (S ) - 2202 6,05,73 0 6,05,73
2405 i SEm
SRS EL
80- 3 [XX] {109} eNvijk dk if'id{kr dju gr 39,00 0 39,00
I (rEn IY) - 2405 39,00 0 39,00
2853  3ITciig UTg @ 3 engend SenT
SRS
80- 4 [02] {800} ipk;rk dk vuniu 3,22,42 0 3,22,42
I (rEn oY) - 2853 3,22,42 0 3,22,42
4515 3 UTHIOT foehTd shTdehdl UX USH
uRea
SRS EL
80- 5 [XX] {103} xie mhd'% ;ktuk 0 40,00,00 40,00,00
I (SR ") - 4515 0 40,00,00 40,00,00
I ( AN EEA ) - 80 9,67,15 40,00,00 49,67,15
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T 20062007 T ferd Tl S Kl AL (3AHS TR TG )

T HeT 3U g oy foraror a7t STt S0l
Hah 9y
T G -82  ffeardt & 3 AT o Itatia
et demadt et el ot fasi
HETEAr
4515 3 TTHOT faeRTe TRl UR gt
g
ST
82- 1 [XX] {103}  xe md% ;itul 0 30,00,00 30,00,00
IrT (SR 9e) - 4515 0 30,00,00 30,00,00
e ( g EEn ) - 82 0 30,00,00 30,00,00

deq =0T - 1,45,28,61 10,31,34,55 11,76,63,16
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